
ganzrationale Zahlen

Lösungen
Zahnräder finden

1. i=16
20

⇒  Antriebszahnrad: Z4 Abtriebszahnrad: Z2

2. i=20
8

=
40
16

⇒ {
Antriebszahnrad: Z

1
Abtriebszahnrad: Z

4
oder

Antriebszahnrad: Z2 Abtriebszahnrad: Z7

3. i=16
80

=
8
40

⇒  Antriebszahnrad: Z7 Abtriebszahnrad: Z1

4. i=1
3
=
8
24

=
12
36

⇒ {
Antriebszahnrad: Z

6
Abtriebszahnrad: Z

1
oder

Antriebszahnrad: Z
5

Abtriebszahnrad: Z
3

Wie oft dreht sich das Zahnrad?

1. 3×

2. 4×

3.
1
2
×

4.
1
3
×

5. 2×

6. 3×

7.
1
2
×

8.
1
4
×

Zahnräder bestimmen
5. z=40

6. z=8

7. z=12

8. z=12
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